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/* ex_cal.c */
#include "stdio.h"
main(){
[* (15 /115 ) ( (0 >100)) */

static double d[ 101]={1.0000,
.9985,.9970,.9956,.9942,.9929,.9916,.9903,.9891,.9878,.9867,
.9855,.9844,.9833,.9822,.9812,.9802,.9792,.9782,.9773,.9763,
.9753,.9742,.9732,.9721,.9711,.9700,.9690,.9679,.9668,.9657,
.9645,.9633,.9621,.9608,.9594,.9581,.9567,.9553,.9538,.9523,
.9507,.9491,.9474,.9457,.9440,.9422,.9404,.9386,.9367,.9348,
.9329,.9309,.9289,.9269,.9248,.9227,.9206,.9185,.9163,.9141,
.9119,.9096,.9073,.9050,.9027,.9004,.8980,.8956,.8932,.8907,
.8882,.8857,.8831,.8805,.8779,.8753,.8726,.8699,.8672,.8645,
.8617,.8589,.8560,.8531,.8502,.8472,.8442,.8411,.8379,.8346,
.8312,.8278,.8242,.8200,.8168,.8128,.8086,.8042,.7996,.7947
h3

double alc,sm,dev,dsm(),ex(),tex(),exdev() texdev();

int a; printf("Input Alcohol, Sake Meter ¥n") ;

printf (""Z(CTRL+Z or f 10) -> End¥n");

while (scanf("%lIf %lIf", &alc, &sm) != EOF)

{a=ac; dev=alc-d;

printf ("Extract %2.2If ¥n",exdev(d[a+1],d[a],dsm(sm)

dev));

printf("Total Extract %2.2If ¥n"texdev(d[a+1],d[d] ,

dsm(sm),al,dev)); continue;

Yprintf ("End ¥n");

(TE)

TE=E+1.5894 x ( )
3 C
1
f 10
[CTRL]+Z

TEL 026-227-3131 FAX 026-227-3130
E-mail miyamoto-teruo@pref.nagano.jp

double dsm(sm)

double sm;

{double ds,dsm; int d; dsm=1443/( 1443+sm);
d=10000* dsm+.5; dsm=d/10000.0; return( dsm);

}

double ex(dal, dsm)

double dal, dsm;

{int e, double ex; ex=(dsm-dal)*260+.21;
e=100* ex+.05; ex=€/100.0; return( ex);

}

double tex(dal, dsm, a)

double dal, dsm; int al;

{int t; double tex;tex=ex(dal,dsm)+1.5894*dl;
t=100* tex+.05;tex=t/100.0; return( tex);

}
double exdev(dall,dal,dsm,dev)
double dal1,dal,dsm,dev;

{double dex,exdev; int e; dex=ex(da1,dsm)-ex(dal,dsm);

exdev=dev*dex+ex(dal,dsm);
e=100* exdev+.05; exdev=e/100.0;return ( exdev);

}

double texdev(dal1,dal,dsm,a,dev)

double dal1,dal,dsm,dev; int a;

{double texdev; int t;
texdev=tex(dal1,dsm,al+1)-tex(da,dsm,a);

texdev=dev*texdev+tex(dal,dsm,d); t=100* texdev+.05;

texdev=t/100.0;return(texdev); }



